MALNAD COLLEGE OF ENGINEERING, HASSAN

DEPARTEMENT OF MATHEMATICS

@rse Title Mathematics for Computer Science Engineering stream -1
Course Code 24MATSI11 (L-T-P) (3-1-2)4
Exam 3hours Hours / Week 06
SEE 50 Marks Total Hours 65(40L+13T+12P)

Course Objective: To train the students to acquire knowledge in calculus
| s to solve basic engineering application problems.

Course Outcomes (COs): At the end of course, student will be able to:

COs | Outcomes
CO1 | Compute Taylor series, partial derivatives, pedal equation,

and numerical methods so

POs PSOs

curvature and solve simple problems connected with mulfiplc

integrals, Counting principle, bayes theorem on probability, FoL )
evolutes, errors and approximation.

CO2 | Inspect for extreme values [the maximum output of a function
(experimental data)] analyze the region of integration connected
with multiple integrals so as to determine the area, volume, FOLE02 o=

(remove add Probability)

CO3 | Apply the numerical methods to compute: The area of a region,

root (input) of an equation for the given output, missing in put

or output of the given experimental data (interpolation/ el .

extrapolation).

CO4 | Model the real-life problems/engineering application problems
POL,PO2 |-
and solve the same.

COS | Write the program in python for the mathematical procedures
connected with calculus, numerical methods, differential PO1
equations, vector calculus, execute the same and provides correct PO2,PO5

output,

MODULE -1 I 10 Hrs.
Differential Calculus: Definition of average growth rate and its illustrative examples. Definition of

differentiability, Statement of Taylor’s theorem, Taylor’s series for a function of one variable -
Ilustrative examples. Polar coordinates, Polar curves, angle between the radius vector and the

tangent, angle between two curves, Pedal equations,Curvature and Radius of curvature in polar and

pedal form,
Applications : Extreme values of a single variable- cost and revenue.

Self Study: Brief introduction to evolutes and involutes. Indeterminate forms - L’Hospital’s rule
problems. Extreme values of a single variable. Expansion of a function as a Maclaurin’s series for

function of one variable.
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